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If you woke up at 7:30 in the morning and took 20 minutes to eat your breakfast, what time it will be when you finish the brekfast?

A. 7:45 PM B. 7:50 PM

C. 7:55 PM D. 8:00 PM

Geeta has a book of 98 pages. She read 65 pages. How many pages are left to read ?

A. 33 B. 32

C. 30 D. 89

Which of the following is the largest number?

A. 80 B. 79

C. 800 D. 808

How many sides does a triangle have ?

A. 4 B. 5

C. 3 D. 2

Question: 1 of 35 Marks: 1QID: 19233

Question: 2 of 35 Marks: 1QID: 19228

Question: 3 of 35 Marks: 1QID: 19250

Question: 4 of 35 Marks: 1QID: 19230
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There are 12 toy cars in a toy shop. Some kids came and bought 5 toy cars. How many toy cars are left in the shop?

A. 8 B. 7

C. 17 D. 20

There are 20 books on a shelf. If 8 books are taken out, and 4 are put back, how many books are on the shelf now?

A. 16 B. 12

C. 8 D. 28

Matchbox A has 22 matchsticks Matchbox B has 7 matchsticks. Matchbox C is filled by adding the sticks from A and B. Find the number
of matchsticks in C.

A. 25 B. 29

C. 15 D. 154

A leap year has _________ days.

A. 260 B. 356

C. 360 D. 366

Which shape is different from the others?

A. square B. rectangle

C. triangle D. heart

Question: 5 of 35 QID: 19236

Question: 6 of 35 Marks: 1QID: 19256

Question: 7 of 35 QID: 19238

Question: 8 of 35 Marks: 1QID: 19249

Question: 9 of 35 Marks: 1QID: 19224
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Which of the following number is both a multiple of 2 and a multiple of 3?

A. 5 B. 6

C. 7 D. 8

What is the sum of 'total number of days in a leap year and a non leap year'?

A. 366 B. 365

C. 731 D. 1

If the last month was August and the next month is October, which is the current month

A. July B. November

C. May D. September

What is the time shown in the clock image ?

A. 8'o clock B. 9'o clock

C. 10'o clock D. 11'o clock

Question: 10 of 35 Marks: 1QID: 19248

Question: 11 of 35 QID: 19237

Question: 12 of 35 QID: 19240

Question: 13 of 35 QID: 19235
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______________ month has neither 31 days nor 30 days.

A. march B. april

C. february D. july

Which of the following options is correct?

A. 10 + 20 > 30 + 5 B. 5 + 12 = 8 + 9

C. 3 + 5 = 5 + 5 D. 13 + 5 = 5 + 5

In a race, Tim ran 100 meters, and then he ran an additional 50 meters. How many meters did he run in total?

A. 50m B. 150m

C. 500m D. 15m

Which is the largest two-digit number?

A. 99 B. 90

C. 89 D. 97

What number do you get when 8 tens is added to 2 ones?

A. 82 B. 92

C. 10 D. 6

Question: 14 of 35 Marks: 1QID: 19247

Question: 15 of 35 QID: 19239

Question: 16 of 35 Marks: 1QID: 19252

Question: 17 of 35 Marks: 1QID: 19244

Question: 18 of 35 Marks: 1QID: 19234
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The difference between greatest two digit number and smallest two digit number is ______.

A. 48 B. 99

C. 89 D. 80

If the clock shows 7:15, how many minutes past 7 o'clock is it?

A. 20 minutes B. 15 minutes

C. 10 minutes D. 5 minutes

Write down the next term of the seriesA, C, E, G, _______.

A. H B. B

C. A D. I

Riya spends 7 hours at school. How many minutes did she spend at school?

A. 420 minutes B. 300 minutes

C. 600 minutes D. 700 minutes

Which one of the following numbers from options below, would you use to complete the series ? 9,18,27,36,___

A. 40 B. 45

C. 54 D. 90

Question: 19 of 35 QID: 19241

Question: 20 of 35 Marks: 1QID: 19226

Question: 21 of 35 Marks: 1QID: 19232

Question: 22 of 35 QID: 19242

Question: 23 of 35 Marks: 1QID: 19246
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What number is between 88 and 90?

A. 91 B. 89

C. 98 D. 17

If the big hand of the clock is pointing at 12 and the little hand is pointing at 3, what time is it?

A. 3 o' clock B. 12 o' clock

C. 3:12 o' clock D. 12:30 o' clock

In the pattern: 20, 18, 16, __, 12, which number will come next?

A. 17 B. 14

C. 15 D. 10

The time now is 3:15PM .What will be the time after 45 minutes?

A. 3:30 AM B. 4:00 AM

C. 4:30 AM D. 4:00 PM

12 items make a dozen. Similarly 10 years make a _________

A. decade B. century

C. years D. week

Question: 24 of 35 Marks: 1QID: 19254

Question: 25 of 35 Marks: 1QID: 19257

Question: 26 of 35 Marks: 1QID: 19258

Question: 27 of 35 Marks: 1QID: 19253

Question: 28 of 35 Marks: 1QID: 19251
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Which number is one less than 70?

A. 71 B. 7

C. 69 D. 17

You have 12 toys. If you get 13 more toys as a gift, how many toys do you have in total?

A. 25 B. 1

C. 12 D. 15

What is the perimeter of a square with sides of length 6 units?

A. 18 units B. 24units

C. 12 units D. 10 units

Which statement is true about a square?

A. All sides are of different lengths B. It has one pair of parallel sides

C. All sides are of equal length D. All angles are not right angles

Which one of the following is not true?

A. 10>8 B. 9<7

C. 6=6 D. 18>0

Question: 29 of 35 Marks: 1QID: 19227

Question: 30 of 35 Marks: 1QID: 19225

Question: 31 of 35 Marks: 1QID: 19245

Question: 32 of 35 Marks: 1QID: 19255

Question: 33 of 35 Marks: 1QID: 19231
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fill in the blank 7, 14, 21, 28, 35, ____

A. 40 B. 42

C. 24 D. 82

Which of the following is not a whole number?

A. 9 B. -6

C. 0 D. 100

Question: 34 of 35 Marks: 1QID: 19229

Question: 35 of 35 Marks: 1QID: 19243

--- END OF QUESTION PAPER ---
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